26. 4215 = 15 | 27. 352 = 14

Solve the following word problems. Show all your work and circle your answer.
(Remember to put a label on your answer!)

28. A cargo ship has 15 compartments in the hull. If each compartment can hold 925
King Crabs, how many total crabs can the cargo ship hold?

29. A farmer has 77 peach trees in his orchard. Each tree produces 500 peaches each
season. How many total peaches does the farmer’s trees produce each season?

30. In one year, a computer repair technician rﬁakes 1044 repairs to his customers
computers. Since there are 12 months in one year, how many repairs does he make
each month?




